MATHS

BOOKS - VGS MATHS (TELUGU)

DT HOAD PJATTeD

1.sinhz = E9903053 cosh (2x), sin (2x) eV §éa‘§s&o&9.

4

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bfspsWI7SkaN

2. sinh x=3 @0NAN))CD z = log, (3 +1/10) e

P H0G.

° Watch Video Solution

3. tanh(z — y) = tanhz — tanhy/1 — tanhz tanhy

29 ABIPN0R0G.

° Watch Video Solution

4. coth(x —y) = cothx cothy — 1/cothy — cothz

29 ABPN0R0G.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ff3RVvQ8IZrw
https://dl.doubtnut.com/l/_JJ1PhmKNbZoR
https://dl.doubtnut.com/l/_awEG9UE2APEh

5. f.gé n € R ¥ (cosh x - sinh x)*(n) = cosh (nx) - sinh

(NX) 90 QBPN0B0G.

o Watch Video Solution

6. 2 n € R ¥ (cosh x + sinh x)*(n) = cosh (nx) + sinh

(NX) 90 ABPN0B0G.

o Watch Video Solution

7. x # 0090003 ,
tanhx /sechz — 1 + tanhz /sechxz + 1 = — 2cosechz

09 ABPN0R08G.


https://dl.doubtnut.com/l/_awEG9UE2APEh
https://dl.doubtnut.com/l/_PuAUC3kzjxB3
https://dl.doubtnut.com/l/_nAzDnTsLdo2a
https://dl.doubtnut.com/l/_pyimHGCGC3FX

° Watch Video Solution

8. T # 009000 ,
coshz /1 — tanhx + sinhx /1 — cothz = sinhx + coshz

9Q AEPD0B0G.

o Watch Video Solution

9. D& z € R % cosh*z —sinh*z = cosh(2z) e

AEPD0P06.

o Watch Video Solution



https://dl.doubtnut.com/l/_pyimHGCGC3FX
https://dl.doubtnut.com/l/_e0aabCBTDDR9
https://dl.doubtnut.com/l/_MuWEIFy0G5PE

0
10. u = log, [(tan(% + 5)] ,cos0 >0  e90NB

coshu = sec 9 QBPD0B0G.

o Watch Video Solution

M. 93 z € R % sinh(3z) = 3sinhz + 4sinh’ z €9

AEIPD0N06.

° Watch Video Solution

12. 2D r €R D
tanh 3z = 3tanhz + tanh®z /1 + 3tanh®z 9
QBTN0I0G.

| o |


https://dl.doubtnut.com/l/_7jSLGZvKSvrq
https://dl.doubtnut.com/l/_WrKjutVdOB5s
https://dl.doubtnut.com/l/_XtRRsMICrh8D

l & Watch Video Solution J

5
13.coshz = Eeaom@ cosh (2x) densden §<63'§6&OC?9.

o Watch Video Solution

14.coshx = geacm@ sinh (2x) Denden §é)%‘&oc%.

o Watch Video Solution

tan’ z B tan’ 0

15. coshx = secf 0N 5 == 9

AEIEDON0CG.

o Watch Video Solution



https://dl.doubtnut.com/l/_XtRRsMICrh8D
https://dl.doubtnut.com/l/_Hbb1U186e1cr
https://dl.doubtnut.com/l/_cjFltdfFXMkA
https://dl.doubtnut.com/l/_mhpZlMPTCuHG

16. 0 c (—%,%),wzloge[(cot<%+9)],

cosh x = sec 2theta e

AEIFD0N06.

o Watch Video Solution

17. 0 € (—%,%),wzlogeKcot(%—i—H)],

sinh x =tan 2theta’ @

AEIPD0N06.

° Watch Video Solution

18.sinh x=5 ©00& z = log, (5 + 1/26) @ <*H0E.

e ]


https://dl.doubtnut.com/l/_cytEzpBaYPSw
https://dl.doubtnut.com/l/_kxgiaGo5hEor
https://dl.doubtnut.com/l/_qCklyjRTSAA1

| ¥ Vvatch video Solution

1 1
19. tanh ! (5) = Eloge 3 09 SPDOC.

o Watch Video Solution



https://dl.doubtnut.com/l/_qCklyjRTSAA1
https://dl.doubtnut.com/l/_LQco9hG5QihL

